Week 30 HW
Following the patterns we did in the class, fill in rows 1, 4 and 7 of the table below. The root verb is “thank (يَشْكُرُ)”. Note that we are using present tense verb here. I did few examples. You are welcome to do the entire table for triple the credit.
	
	me
	us
	you1M
	you1F
	you2M,2F
	you3M
	You3F
	him
	her
	them2M 
	them2F
	them3+M
	them3+M

	I 
	
x
	أَشْكُرُنَا
	
	
	
	
	
	
	
	
	
	
	

	
We2+M
	
	x
	
	
	نَشْكُرُكُمَا
	
	نَشْكُرُكُنَّ
	
	
	
	
	
	

	
You1M
	
	
	x
	
	
	
	
	
	
	
	
	
	

	
You1F
	
	
	
	x
	
	
	
	
	
	
	
	
	

	
You2M, 2F
	
	
	
	
	x
	
	
	
	
	
	
	
	

	
You3+M
	
	
	
	
	
	x
	
	
	[bookmark: _GoBack]تَشْكُرُوهَا
	
	
	
	

	

You3+F
	

	
	
	
	
	
	x
	
	
	
	
	
	

	
He
	
	
	
	
	يَشْكُرُكُمَا
	
	
	x
	
	
	
	
	

	
She
	
	
	
	
	
	
	
	تَشْكُرُهُ
	x
	تَشْكُرُهُمَا
	
	
	

	
They2M
	
	
	
	
	
	
	
	
	
	x
	
	
	

	
They2F
	
	
	
	
	
	
	
	
	
	
	x
	
	

	
They3+M
	
	
	
	
	
	
	
	
	
	
	
	x
	

	
They3+F
	
	
	
	
	
	
	
	يَشْكُرُونَّهُ
	
	
	
	
	x



